


OSyntax:

1if condition:

do something

OCondition must be statement that evaluates to a
boolean value (True or False)



If condition

conditional code

X = 1nput ("X=")
1f x.isdigit():

print ("You input a number")



OSyntax:

1f condition:
do something
else:

do alternative



statermnents 2 statements 1

X = 1nput ("x=")
1f x.isdigit():

print "You i1nput a number"
else:

print "Please input a number\

next time"



X = int (input ("x=")) —
y = int (input ("y="))
if vy <> 0:

print(x / y)
else:

print ("Attempted division by zero")



F condition —l

statements 2 statements 1

X = 1nput ("x=")
1f x.isdigit():

print ("You 1nput a number")
else:

print ("Please 1input a number next time")



OSyntax:

if condition:

do something

elif condition:

do alternativel

else:

dlg @lteirnativez finish




X = 1int (input ("x="))
y = int (input ("y="))
if x < y:

print('x 1s less than y')
elif x > y:

print ('x 1s greater than y')
else:

print ('x and y are equal')



while( condition )

{
}

conditional code ;

If condition
is true

code block If condition
is false
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=5
while
print(n)

print('Blastoff!’)

1
Blastoff!



washing-Machine
lepeai(S){Lather, Rinse} Dry: oif

Yes =5
while ;
‘Lather’ print(‘Lather’)
print(‘Rinse’)

NO

'Rinse’

print('Dry off! ')

What Is wrong with this loop?



WwashingiMachine
repeal(S){Lather, Rinse} Dry: off

=5
while

print(’ Lather )
prlnt( Rlnse )

print('Dry off! ')




BadiWashingiMachine

Yes

N print('Lather’)
print(‘Rinse’)
print('Dry off! ")

'Rinse’

What does this loop do?



O The break statement ends the current loop and jumps to the statement immediately
following the loop

O ltislike aloop test that can happen anywhere in the body of the loop

While True: 4
mt(mput()) 4

|f . 3
break 3
print(x) -1

print('‘Done!’) Done!



from turtle import * from turtle import *

wn = Screen() wn = Screen()
wn.setup(400,200) wn.setup(400,200)
sarah = Turtle() sarah = Turtle()

»>
sarah.forward(50) #repeat four times
sarah.left(20)
sarah.forward(50) foriin range(4):
sarah.left(20) sarah.forward(50)
sarah.forward(50) sarah.left(20)

sarah.left(?0)
sarah.forward(50)
sarah.left(?0)

whn.exitonclick() whn.exitonclick()




def




from turtle import * from furtle import

def drawSquare(t, size): wn = Screen()

alex= Turtle()

foriinrange(4):

t.forward (size) foriin range(4):
t.left(90) alex.forward(150)

alex.left(90)

wn = Screen()

.exitonclick
alex = Turtle() wn.exitonclick()

drawSquare(alex, 150)

wn.exitfonclick()




from turtle import *

def drawSquare(t, size):

foriinrange(4).
t.forward(size)
t.left(20)

wn = Screen()
alex = Turtle()

alex.left(20)
drawSquare(alex, 150)
alex.left(20)
drawSquare(alex, 150)
alex.left(20)
drawSquare(alex, 150)

wn.exitonclick()




from turtle import *

def drawSquare(t, size):

foriinrange(4): }"
t.forward(size)
t.left(20)

wn = Screen|)
alex = Turtle()

alex.left(20)

drawSquare(alex, 150) .
alex.left(20) for nin range(3):

e lex. 150 alex.left(20)
Olr;\(/j e?TL(JQGOr)e(O = ) drawSquare(alex,150)

drawSquare(alex, 150)

whn.exitonclick()




=5
while
print(n)

print('Blastoff! ')

for n in range(
print(n)

print('Blastoff! *)

)




for nin [5,4,3,2,1] for nin range( )
print(n) print(n)

print('Blastoff!’) print('Blastoft!’)




for nin [5,4,3,2,1]: for n in range( )
print(n) print(n)

print('Blastoff!’) print('Blastoff!’)




for ninrange(1,5,1) : for n in range( ).
print(n) print(‘1")

print('Finished! ') print('Finished! ')




for ninrange(0,5,1) : for n in range(5):
print(i) print(in)

print('Finished! ') print('Finished! ')




range(1,100,1)

range(0,100,1)

range(1,100,2)

range(2,100,2)

range(5,100,3)

range(100,1,-1)

range(100)

range(100,0,-2)




for n in range(0,50,1):
drawSquare(alex,50)

for nin range(0,50,1) :
drawSquare(alex,n)

for n in range(0,50,1) :
drawSquare(alex,n)
alex.right(20)




